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Q. An analog signal has a bit rate of 6000 bps and a baud rate of 2000 baud. How many data
elements are carried by each signal element ?
(A) 0.336 bits/baud
(B) 3 bits/baud
(C) 120,00,000 bits/baud
(D) None of the above
Ans: (B)

Explanation: A same signal has bit rate of 6000bp and baud rate of 2000 baud. So 6000 =
2000 baud.  Hence a signal carried 3bits of data.

Related Posts:
Net 101.
Net 92.
Net 433.
What is computer network4.
Net 425.
Data Link Layer6.
Framing7.
Byte count framing method8.
Flag bytes with byte stuffing framing method9.
Flag bits with bit stuffing framing method10.
Physical layer coding violations framing method11.
Error Control in Data link layer12.
Stop and Wait13.
Sliding Window Protocol14.

https://easyexamnotes.com/net-10/
https://easyexamnotes.com/net-9/
https://easyexamnotes.com/net-43/
https://easyexamnotes.com/what-is-computer-network/
https://easyexamnotes.com/net-42/
https://easyexamnotes.com/data-link-layer/
https://easyexamnotes.com/framing/
https://easyexamnotes.com/byte-count-framing-method/
https://easyexamnotes.com/flag-bytes-with-byte-stuffing-framing/
https://easyexamnotes.com/flag-bits-with-bit-stuffing-framing/
https://easyexamnotes.com/physical-layer-coding-violations/
https://easyexamnotes.com/error-control-in-data-link-layer/
https://easyexamnotes.com/stop-and-wait/
https://easyexamnotes.com/sliding-window-protocol/


Net 47

EasyExamNotes.com Net 47

One bit sliding window protocol15.
A Protocol Using Go-Back-N16.
Selective repeat protocol17.
CBSE NET 2004 3818.
Cbse net 2004 3719.
Cbse net 200420.
CBSE Net 201721.
Ugc net 2017 solved22.
Net 1423.
Net 1324.
Net 1225.
Net 1126.
Net 927.
Net 828.
Net 729.
Net 630.
Net 531.
NET 432.
NET 333.
NET 134.
NET 235.
Net 3536.
Net 3437.
Net 3338.
Net 3239.
Net 3140.
Net 2941.

https://easyexamnotes.com/1-bit-sliding-window-protocol/
https://easyexamnotes.com/a-protocol-using-go-back-n/
https://easyexamnotes.com/selective-repeat-protocol/
https://easyexamnotes.com/cbse-net-2004-38/
https://easyexamnotes.com/cbse-net-2004-37/
https://easyexamnotes.com/cbse-net-2004/
https://easyexamnotes.com/cbse-net-2017/
https://easyexamnotes.com/ugc-net-2017-solved/
https://easyexamnotes.com/net-14/
https://easyexamnotes.com/net-13/
https://easyexamnotes.com/net-12/
https://easyexamnotes.com/net-11/
https://easyexamnotes.com/net-9-2/
https://easyexamnotes.com/net-8/
https://easyexamnotes.com/net-7/
https://easyexamnotes.com/net-6/
https://easyexamnotes.com/net-5/
https://easyexamnotes.com/net-4/
https://easyexamnotes.com/net-3/
https://easyexamnotes.com/net-1/
https://easyexamnotes.com/net-2/
https://easyexamnotes.com/net-35/
https://easyexamnotes.com/net-34/
https://easyexamnotes.com/net-33/
https://easyexamnotes.com/net-32/
https://easyexamnotes.com/net-31/
https://easyexamnotes.com/net-29/


Net 47

EasyExamNotes.com Net 47

Net 3042.
Net 2843.
Net 2644.
Net 2745.
Net 5246.
Net 5147.
Net 5048.
Net 4949.
Net 4850.
Net 4651.
Net 4552.
Net 4453.
Net 4154.
Net 4055.
Net 3956.
Net 3857.
Net 3758.
Net 3659.
UGC NET November 2017 Paper II60.
OSI vs TCP/IP61.
TCP/IP Reference Model62.
OSI Reference Model63.
UGC NET CS Paper 2 June 201264.
Readers Writes Problem | UGC NET Dec 201865.
Suppose a system has 12 instances | UGC NET Dec 201866.
Data warehouse | UGC NET Dec 201867.
Computer Networks Introduction68.

https://easyexamnotes.com/net-30/
https://easyexamnotes.com/net-28/
https://easyexamnotes.com/net-26/
https://easyexamnotes.com/net-27/
https://easyexamnotes.com/net-52/
https://easyexamnotes.com/net-51/
https://easyexamnotes.com/net-50/
https://easyexamnotes.com/net-49/
https://easyexamnotes.com/net-48/
https://easyexamnotes.com/net-46/
https://easyexamnotes.com/net-45/
https://easyexamnotes.com/net-44/
https://easyexamnotes.com/net-41/
https://easyexamnotes.com/net-40/
https://easyexamnotes.com/net-39/
https://easyexamnotes.com/net-38/
https://easyexamnotes.com/net-37/
https://easyexamnotes.com/net-36/
https://easyexamnotes.com/ugc-net-november-2017-paper-ii/
https://easyexamnotes.com/osi-vs-tcp-ip/
https://easyexamnotes.com/tcp-ip-reference-model/
https://easyexamnotes.com/osi-reference-model/
https://easyexamnotes.com/ugc-net-cs-paper-2-june-2012/
https://easyexamnotes.com/readers-writes-problem-ugc-net-dec-2018/
https://easyexamnotes.com/suppose-a-system-has-12-instances-ugc-net-dec-2018/
https://easyexamnotes.com/data-warehouse-ugc-net-dec-2018/
https://easyexamnotes.com/computer-networks-definition-needs-uses-advantages/


Net 47

EasyExamNotes.com Net 47

Types of Computer Networks69.
Network Architectures70.
Computer Network Topologies71.
LAN and WAN Protocols72.
Network Address73.
IP Addresses74.
Class Full Addressing75.
Networking Media76.
Networking Devices77.
Structured cabling78.
Types of connectivities in Computer Networks79.
Introduction to Network Operating System(NOS)80.
ARP/RARP81.
Cooperative Caching82.

https://easyexamnotes.com/types-of-computer-networks/
https://easyexamnotes.com/network-architectures-peer-to-peer-client-server-hybrid-intranet-internet-extranet-tiered-hierarchicalmesh-vpn/
https://easyexamnotes.com/computer-network-topologies/
https://easyexamnotes.com/lan-and-wan-protocols/
https://easyexamnotes.com/network-address/
https://easyexamnotes.com/ip-addresses/
https://easyexamnotes.com/class-full-addressing/
https://easyexamnotes.com/networking-media/
https://easyexamnotes.com/networking-devices/
https://easyexamnotes.com/structured-cabling/
https://easyexamnotes.com/types-of-connectivities-in-computer-networks/
https://easyexamnotes.com/introduction-to-network-operating-systemnos/
https://easyexamnotes.com/arp-rarp/
https://easyexamnotes.com/cooperative-caching/

